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Programmer-Written Programs

Programs

Phase 3
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<p_| body>

/ <cd_| kern>

<ACseq> <op_stmt> <stow_ sec> <ACseq> <op stmt>

| 8 //7\\

if <b p e> then <in_code> else <in_code> end if
<ca||>
/ \ q_is empty
<p_ nm>(<cur var I|st>)

<cd_prefix> <stow_sec> <ACseq>

Test_| If "~ Empty q, q_is_empty | \
/ e [

<stow_ sec> <ACseq> <op_stmt>

8 6

<ca||>

<cd_prefix> <stow_sec> <ACseq>
AN B
€ €

<p_nm> ( <cur_var_list>)

/

Make_two X

<stow_sec> <ACse(g> <op_stmt>

! \

(S €

<call>

N~

<p_nm> ( <cur_var_list>)

/

Make_three X



<cd_kern>

|/

<ACse(g> <op_stmt> <stow_sec> <ACseq> <op_stmt>

\

if <b_p_e> then <in_code> else <in_code> end if

/ 7 \\ q—is—e’“{

<p_nm> ( <cur_var_list>)

\ \ <cd_prefix> <stow_sec> <ACseq>
g, 9

Test_If_Empty , q_is_empty \
/ / \\ ©
stow ( <nat_num>)

<stow_sec> <ACseq> <op_stmt> 30

|\

stow ( <nat_num>) <call>

| \ <cd_prefix> <stow_sec> <ACseq>
20 / / \ / / \\ \s

<p_nm> ( <cur_var_list>)

/ / stow ( <nat_num>)
X

Make_two 50

<stow_sec> <ACse(g> <op_stmt>

/AN

stow ( <nat_num>) <call>

LN

<p_nm> ( <cur_var_list>)

/

Make_three X


























































































































































































































































































































































































































































































































































Top

<p_ body>

/ <cd_| kern>
1

<ACseq> <op_stmt> <stow_ sec> <ACseq> <op stmt>

if <b p e>then <|n_code> else <in_code> end if
<call> °

°
/ \ q_is empty .

<p_ nm>(<cur var_list>)

8 8

<cd_prefix> <stow_sec> <ACseq>
Test_If_Empty q, q_is_empty [ \
e [

<stow_sec> <ACseq> <op_stmt>

|
c \6 Indexed Method
/<ca||> \
Front <p_nm> ( <cur_var_list>) Back
/ |
Make_two X

Bottom

Back Substitution Method

A

Symbolic Execution (Forward Accumulation Method)
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